Basic One-step Equations. Date:

Through your working, show how you are keeping the
equation balanced as you solve for the variable.
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12 k
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SOLUTIONS

Basic One-step Equations.

Through your working, show how you are keeping the
equation balanced as you solve for the variable.

1]

d-50 = -46
+ 50 + 50
d = 4
[4]
f+16 = 15
- 16 - 16
f =
[71
35 = 36-n
- 36 - 36
-1 = -n
x =1 x =1
1 = n
n =1
[10] d
x 5 5 o = 15 x5
d = 75
[13] -64 = 8m
+8 +8
_8 = m
m = -8

[2]

[51

[8]

[11]

x 10

[14]
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54 - h = 50
- 54 - 54
-h = -4
x =1 x =1
h = 4
22 +k = 15
- 22 - 22
k = -7
42+p = 39
- 42 - 42
p = -3
P
— = 9
10 xw0 X0
p = -190
10p = 110
=10 =10
p = 11

[3]

-2 = h-36
+ 36 + 36
34 = h
h = 34
[6]
57 = m+20
- 20 - 20
37 = m
m = 37
[9]1
52 = 59+f
- 59 - 59
7 o= f
f =
[12] k
I
176 = &k
k = 176
[15] -156 = -13d
+-13 ~-13
12 = d
d = 12




